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I'pedecknii andasur

3arnaBuas | Crpouynas | Haspamme | 3arnaBhHas | Crtpounas | Ha3BaHue
A o anbbha N v HIO
B B Oera = & KCU
I Y raMma 0 o OMHUKPOH
A ) nenpTa I1 T on
E € SICHJIOH P p po
Z S 3era 2 c curma
H ul JTa T T Tay
® 0 TeTa Y v UIICHIOH
1 1 iora [0) [0) ¢bu
K K Karnrma X X XU
A A MO Ia ¥ \ ncu
M 0 MIO Q ® omMera
CpeaHee 4HCJI0 3Be3]] JAHHOTO §JiecKa
3Be3Has BeJIMYHHA Yuco 38371
" 20
2" 40
3" 150
4" 400
5" 1000
6" 6000
IIBeT, cneKkTpaNbLHBIN KIacc U TeMIepaTypa 3Be3]
IBer CnekTpajibHbIi Cpennsiss TeMnepaTtypa
KJIacc (K)
Tony6oit 0,B 30 000
Bbenprii A 10 000
Kenrosartslii F 8000
Kentsrit G 6000
OpamxeBblit K 4000
Kpacuslii M 3000

EIII(IHHIII)I H3MEpPEHUA PACCTOSITHUSA

1 acTpoHOMHUYECKasl CANHNUIA ~ 150 miH. KM
1 cBeTOBOI roj = 10 TpaH. KM
1 mapcex (mc) =~ 33 TpaH. KM
1 xunonapcek (Kmc) 1000 nx
1 meranapcek (Mmc) 1000 Kk

"1 rpummmon = 1000 Mumnapaos = 1 000 000 000 000




